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Math 2173 — Homework Set 4
Due : Thursday, Oct. 31, In Recitation

1 . (8 points) Evaluate the line integral / F . dr, where C is given by the vector function r(t). .
c ,

F(z,y,2) = (z,y, —7)
r(t) = (t,sint,cost), 0 <t <m
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2 . (7 points) Consider the following initial value problem.

y" 4+ 4y = 5cos 3t; y(0) =4,y (0) =2

(a) Verify that the functions y = sin 2t and y = cos 2t are solutions of the homogeneous equation.

Y= st (24) y = cos(2t)
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(b) Verify that the function y = — cos 3t is a particular solution of the differential equation.
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(c) Solve the initial value problem.
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